< O X > (um) for PV
&
7

-100

-150]

Vertex z (cm)

100

<ox> (um)

Vertex z (cm)

o

erged vertices (um)
al
o
7

M
o
S
)

o X > for

1500

d

Vertex z (cm)

—— DQM_TT__MKFIT_ORIG
—— DQM_TT__MKFIT_MODIF

500,

>
o
=
<]
=)
—~
£
3
=
A
>
)
v

......................

.........

o

Y0 =15=10 5 0 5 10

1520

Vertex z (cm)

> 200p
o L

S C

S ABOf ke
E L

R {
A 100E--+beeeibes
A 100F

o

\% L

ChIE

.........

D0=15=10 5 0 5 10

15 20

Vertex z (cm)

o
o
o

<oy>(um),
(0]
o
o

(9]
o
o

400

200

Ratio

10 15 20
Vertex z (cm)

o
o
o

o
o
o

<9 z_'>> (pm()n

3000

2000

1000

...................

............................

10 15 20
Vertex z (cm)

E R T ; ;
5 B . :
& ofid revecmeet}
o L : :
> L :
o} | .
CRI0l0| T SRR R § ERR AR
Q [ :
S :
5 Foo : :
21000f oo e T
> i :
e} : .
Y1500 ) SR fenedenees

;

...........

...........

sl
e
o +
Sl

5 0 5 10 15 20

Vertex z (cm)

000

[

o

(=)
LI B B B

o

o

o
[

< 0z > for merged veytices (um,
3
7

Ratio
N
T

10 15 20

Vertex z (cm)



	Contents
	Page 1


